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Assignment:-1  Subject: Mathematics    Class:-III          Teacher:-Mrs. Neena Gupta 

Name:-_______       Class & Sec.:-_______           Roll No.:-______         Date:- 

Q.1) Choose the correct answer:- 

i) Number of wheels in 5 cars is _________________ 

a) 20 

b) 25 

c) 15 

ii) 100 x 40= _______________ 

a) 400 

b) 4000 

c) 40 

iii) Cost of 1 chocolate is ₹ 20, Cost of 10 chocolates is _____________ 

a) ₹ 20 

b) ₹ 200 

c) ₹ 2000 

iv) 11 x 90= _________ 

a) 99 

b) 1190 

c) 990 

v) 10 x _______________= 200 

a) 2 

b) 20 

c) 200 

vi) 8 x 5 x4 = ___________ x 4 x8 

a) 5 

b) 8 

c) 4 
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vii) 12 x___________ = 84 

a) 6 

b) 7 

c) 8 

viii) When a number is multiplied by 1, we get ________________ 

a) 1 

b) 0 

c) Number it self 

ix) The product of any number with zero is _________________ 

a) 0 

b) Number itself 

c) 1 

 


